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N & O &

Nets

D BHR YA (MNES)
S EEFIVYELSY

Al

SN BA(SA) - MRAY - BES il HImEET

53,780 50,646 3,134

2IIH(MNMES) 53,780 50,646 3,134

dH(MAMES) 53,780 50,646 3,134

2dH(MNHES) 53,780 50,646 3,134

201 Let24dy] 24,780 24,486 294

01 At 2teltl 12,940 12,646 294
O R-IEet =]l 750,000 128 9,000
o=l 2,940
OSEAL FAEAHI 1,000

02 =224l 11,840 11,840 0
02323 % HA 766,660 122 9,200
oA =ZHl 132,000 128 1,584
OAIE ZHI S X 1,056

202 044l 18,000 16,200 1,800

02 M0 18,000 16,200 1,800
OE N0 150,000 x 108 x12& 18,000

203 ¥ S =&l 10,000 9,960 40

01 JI122E 2= 6,600 6,600 0
OsH(JIEN) 6,600

02 Ity =2 400 360 40
OFAINLLETY| 40,0008 109 400

04 RNSYYRETY 3,000 3,000 0
ORN2IYRZ=AHI 250,000 =128 3,000

206 TH 2 Hl 1,000 0 1,000

01 T2l 1,000 0 1,000
oMBOIR Y TEDR XA 1,000
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P E3Hs

C HAERAAY| (HS

oo oo =]

HS)
P JI23HI(EaHSs)

E 0 &

Al

S B G(SA) - NRANY - BES il 2
BaHs 64,513 63,513 1,000
HY2FZH (EHS) 64,513 63,513 1,000
=23 (E3Hs) 64,513 63,513 1,000
Jl2dHl(EaH1s) 64,513 63,513 1,000
201 Let24dy] 29,993 29,993 0
01 At 2teltl 15,473 15,473 0
O L Et==EH| 887,583& 128 10,651
o=l 3,822
OSEAL FAEAHI 1,000
02 =224l 14,520 14,520 0
02323 % HA 950,000& »12& 11,400
oA =ZHl 156,000 128 1,872
OAIE ZHI S X 1,248
202 044l 23,400 23,400 0
02 M0 23,400 23,400 0
OE N0 150,000 » 13 x12& 23,400
203 ¥ S =&l 10,120 10,120 0
01 JI122E 2= 6,600 6,600 0
OsH(JIEN) 6,600
02 Ity =2 520 520 0
OF Aoty R =&Y 40,000 «13H 520
04 FEANSEHE=LH| 3,000 3,000 0
ORN2IYRZ=AHI 250,000& =128 3,000
206 T & H 1,000 0 1,000
01 W2l 1,000 0 1,000
OMEUA 2 E51) & 1,000
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Al

SA - BB B (BA) - MM - BHES il 2
g32s 93,215 92,215 1,000
HY2FZH (E2s) 93,215 92,215 1,000
Jl=3Hl(E32s) 93,215 92,215 1,000
2yl (E3at2s) 93,215 92,215 1,000
201 Let24dy] 46,995 46,995 0
01 At 2teltl 20,018 20,018 0
O R-IEet =]l 1,143,830 128 13,726
O =&l 5,292
OSEAL FAEAHI 1,000
02 =224l 26,977 26,977 0
02323 % HA 1,906,000& »12& 22,872
oA =ZHl 233,750 128 2,805
OAIE ZHI S X 1,300
202 oddl 32,400 32,400 0
02 M0 32,400 32,400 0
OE N0 150,000& x18H »12& 32,400
203 YR =&t 12,820 12,820 0
01 JI122E 2= 7,900 7,900 0
OsH(JIEN) 7,900
02 Ity =2 720 720 0
OF AL R = A 40,000 =18 720
04 FEANSEHE=LH| 4,200 4,200 0
ORN2IYRZ=AHI 350,000& = 12& 4,200
206 M= Hl 1,000 0 1,000
01 =8l 1,000 0 1,000
OMEla ¥ T & 1,000
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Jl2dH(Mas) 82,839 81,839 1,000
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O =&l 5,292
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oA =ZHl 225,000 128 2,700
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202 oddl 32,400 32,400 0
02 M0 32,400 32,400 0
OE N0 150,000& x18H »12& 32,400
203 YR =&t 12,820 12,820 0
01 JI122E 2= 7,900 7,900 0
OsH(JIEN) 7,900
02 Ity =2 720 720 0
OF AL R = A 40,000 =18 720
04 FEANSEHE=LH| 4,200 4,200 0
ORN2IYRZ=AHI 350,000& = 12& 4,200
206 T 2 bl 1,000 0 1,000
01 24l 1,000 0 1,000
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02 foh

S

N & O &

RS
23 (axH1S8)
2A3H(EHS)

Al

SN BA(SA) - MRAY - BES il HImEET

SIS 60,541 , 341 A 800

HYL2IZH(EMH1S) 60,541 , 341 A 800

J=23H(EXHS) 60,541 , 341 A 800

J2Ztl (& 1s) 60,541 , 341 A 800

201 Let24dy] 31,541 ,541 0

01 At 2teltl 12,261 ,261 0
O R-IEet =]l 693,410 128 8,321
o=l 2,940
OSEAL FAEAHI 1,000

02 =224l 19,280 ,280 0
02323 % HA 1,366,660 *12& 16,400
oA =ZHl 1440002 128 1,728
OAIE ZHI S X 1,152

202 044l 18,000 ,800 1,800

02 M0 18,000 ,800 A 1,800
OE N0 150,000 x 108 x12& 18,000

203 ¥ S =&l 10,000 ,000 0

01 JI122E 2= 6,600 ,600 0
OsH(JIEN) 6,600

02 Ity =2 400 400 0
OFAINLLETY| 40,0008 109 400

04 RNSYYRETY 3,000 3,000 0
ORN2IYRZ=AHI 250,000 =128 3,000

206 TH 2 Hl 1,000 0 1,000

01 T2l 1,000 0 1,000
oMBOIR Y TEDR XA 1,000




N & O &

Al

2Md: FX2E
M HH2ILH(EN2S)
¢l J2ddl(2X28) (Sl & &)
SN BA(SA) - MRAY - BES il HImEET
SN2 58,961 57,707 1,254
HY2FZH (EA28) 58,961 57,707 1,254
=23l (&X28) 58,961 57,707 1,254
l2Ztl(aX2s) 58,961 57,707 1,254
201 Let24dy] 28,121 27,827 294
01 At 2teltl 14,680 14,386 294
O R-IEet =]l 870,500& 12& 10,446
o=l 3,234
OSEAL FAEAHI 1,000
02 =224l 13,441 13,441 0
02323 % HA 885,080& »12& 10,621
oA =ZHl 141,000& 128 1,692
OAIE ZHI S X 1,128
202 044l 19,800 19,800 0
02 M0 19,800 19,800 0
OE N0 150,000& x 11 123 19,800
203 YR =&t 10,040 10,080 A40
01 JI122E 2= 6,600 6,600 0
OsH(JIEN) 6,600
02 Ity =2 440 480 240
OFAINLLETY| 40,0008 112 440
04 FEANSEHE=LH| 3,000 3,000 0
ORN2IYRZ=AHI 250,000 =128 3,000
206 M= Hl 1,000 0 1,000
01 M= 4l 1,000 0 1,000
oMBOIR Y TEDR XA 1,000




E 0 &

Al

2M: X3S
M HH2ALH(EN3S)
el JI=23H(EX38) fEH)
S B G(SA) - NRANY - BES il 2
S U3s 63,825 ,825 1,000
HY2FZH (ENU3S) 63,825 ,825 1,000
J=23H(&X38) 63,825 ,825 1,000
JI2ZH (2 X3s) 63,825 ,825 1,000
201 Let24dy] 34,825 ,825 0
01 At 2teltl 12,189 , 189 0
O L Et==EH| 687,410& 128 8,249
o=l 2,940
OSEAL FAEAHI 1,000
02 =224l 22,636 ,636 0
02323 % HA 1,648,333 «12& 19,780
oA =ZHl 142,830 128 1,714
OAIE ZHI S X 1,142
202 044l 18,000 ,000 0
02 M0 18,000 ,000 0
OE N0 150,000 x 108 x12& 18,000
203 ¥ S =&l 10,000 ,000 0
01 JI122E 2= 6,600 ,600 0
OSH(IIEH) 6.600
02 Ity =2 400 400 0
CEEPINEEEST 40,0002 102 400
04 FEANSEHE=LH| 3,000 3,000 0
ORN2IYRZ=AHI 250,000& =128 3,000
206 M= Hl 1,000 0 1,000
01 M= 4l 1,000 0 1,000
oMBOIR Y TEDR XA 1,000




N & O &

Al

2A: s
M HH2IALH(EH4S)
el JI=23H(EXH48) fEH)
S B G(SA) - NRANY - BES il 2
S s 91,276 86,008 5,268
HYL2IZH (EN4S) 91,276 86,008 5,268
=23 H(&XH4S) 91,276 86,008 5,268
JI2dHl(EH4s) 91,276 86,008 5,268
201 Let24dy] 45,056 44,468 588
01 At 2teltl 20,976 20,388 588
O L Et==EH| 1,223,666 122 14,684
o=l 5,292
OSEAL FAEAHI 1,000
02 =224l 24,080 24,080 0
02323 % HA 1,766,666% «12& 21,200
oA =ZHl 1440002 128 1,728
OAIE ZHI S X 1,152
202 044l 32,400 28,800 3,600
02 M0 32,400 28,800 3,600
OE N0 150,000 » 18 x12& 32,400
203 YR =&t 12,820 12,740 80
01 JI122E 2= 7,900 7,900 0
OsH(JIEN) 7,900
02 Ity =2 720 640 80
OF Aoty R =&Y 40,000 «18H 720
04 FEANSEHE=LH| 4,200 4,200 0
ORN2IYRZ=AHI 350,000& =128 4,200
206 M= Hl 1,000 0 1,000
01 M= 4l 1,000 0 1,000
oMY @ CEDR X3 1,000




